Problem 4 a

function [quad]=gauss(f,a,b,x,w)

t=(a+b)/2 + (b-a)*x/2;

s=feval(f,t);

quad =(b-a)*sum(w .* s)/2;



Problem 4 b

f=inline('sin(x)./x');

a=0; b=1; n=6;

x=[-0.9324695142;-0.6612093865; ...

      -0.2386191861;0.2386191861; ...

      0.6612093865;0.9324695142];

w=[0.1713244924;0.360761573; ...

   0.4679139346;0.4679139346; ...

   0.360761573;0.1713244924];

[quad]=gauss(f,a,b,x,w)

quad =

    9.460830703665185e-001

Problem 5 a

function [fx]=p5(x)

fx=13*(x-x.^2/25-6).*exp(3-3.*x/10)/5;



» [Srmat,quad,err]=adapt('p5',10,30,0.00001);

» quad

quad =

-1.548788234125317e+000

Problem 5 b

[Srmat,quad,err]=adapt('p5',10,30,0.00001);

T=Srmat(:,1);  m=length(T);

T(m+1)=30;  z=zeros(m+1);

tt=10:0.1:30;

yy=p5(tt);

plot(T,z,'.',tt,yy,'-')



[image: image1.emf]10 12 14 16 18 20 22 24 26 28 30

-0.3

-0.2

-0.1

0

0.1

0.2

0.3

0.4


Problem 5 c

» quad('p5',10,30)

ans =

   -1.548785553376872e+000

» quad8('p5',10,30)

ans =

   -1.548788382468695e+000

Problem 6

r=0:.1:1;

V=[1,.99,.96,.91,.84,.75,.64,.51,.36,.19,0];

s = sum( r(2:10) .* V(2:10) );

s = s + r(1)*V(1)/2 + r(11)*V(11)/2;

value = 2*pi* 0.1 * s

value =

    1.555088363526948e+000



Problem 7 (a,b,c)

fa=inline('sin(pi*(x.^2)/2)');

fb=inline('(2/sqrt(pi))*exp(-x.^2)');

fc=inline('exp(-x)./ x');

[Srmat,qa,err]=adapt(fa,0,2,0.00001);qa

[Srmat,qb,err]=adapt(fb,0,2,0.00001);qb

[Srmat,qc,err]=adapt(fc,1,2,0.00001);qc

qa =

    3.433942995660066e-001

qb =

    9.953225391979972e-001

qc =

    1.704848694646348e-001



